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Pre-Calculus Honors

_ Ms. Hindal
Objective 1.5: Domain Restriction Unit 1 Day 5
Do Now:
1. Objective I.E: Find dgmain, range, where the functioE at right:ils increasing and decreasing
D:l-k,s) R:[2 7 Iner: [F,-2]o 55 -2, 1
W , : : e
2. Objective 1.4: Which of the nine a’sic]parent functions [liﬁear, square’, cube, S(%re root, ]
absolute value, reciprocal, exponential, natural logarithm, logistic) have end behavior: \/O
x> o f(x) > o (tryto do it without looking at the functions! picture them in your head
instead!)
3. ACT question of the day: For all x, x? - (3x - 2) + (4x-1) =
A x2-5x-2 B.9x%2+5x-2 @x2-5x+2 D.8x2 - 3x E.9xZ-4x+2

Mini lesson:
Solving inequalities: Solve for x

1. 3x-42>2 3. x2>16
x>0l A3 H o x <-4
X 22 [2,00)
Siibi bt i he R T 0. e
2. 3-2x<7 4. |x|=<8
2-2x 7} X £9
-2x &4 x =2-8
S N R AR I B T U R B L B R P R R
Domain Restriction: 2 rules
Rule #1: We can't d\V\dL by _ZEY0
Functions only exist when the denominator a; does V\—d' equa, 0
Find the domain of the function
2. f(x)=(x+2)/(2-9) 4 f(x)=17/(x +3)
£(x) exsts: x%2-940 -y(x) existS: x+3 #0
xt 29
X # t3

D: Lz—wl JJU(—S) 3)\)(5 ;0051

7 © 5 4 3 21 0 1 2 3 4 5 & 7 © & Y

3. f(x)=7/(]x| - 5) 5.
$0) exists: |xl-£ 40
Ix) #¢
x ¢ £5
b: l( -9, -5) V([-5,5)V (5, oo)f

7 e 4 3 2 1 0 1

f(x) = 7/(2Ix] - 8)
£ exsts: 20x)-8 ¢#0

21X ¢ 8
x| 24 > wzt4

o e Lo lt o

- -7 -0 8




Rule # 2: We can’t take the S gU& Ve Vw+ ofa ! legah !f number
Functions only exist when the input to the square root is SY&;'}(Y m&l’\ or K! uQ l h) 0

2. f(x)=x3-2x+V(x2+5) 4. f(x)=x2+2+V(x+7)
“”(X) easts: w2 +S =0 -}(x) exsls: X¥1 =206
x> 2-5 X = -7
&l\N&YS h\)e - &OG“‘+ -— —
reshiet X [D )-;7,00)1

D: [ (-0, 00) |

3. f(x)=2+V(x3-8) 5. f(x)=5x-3+V(x2-100)
F(x) exsts: x3-@ =¢ $(x) exists: x2-100 =0
x3>q %2 = 100
X =2 X 210 or X £-I0

1D:[2, )] i

FER G ERPE IR ST £ 30 SO S 2 s g e o =5
Multiple rules
1. f(x)=V(x-4)/(x-7) 3. f(x)=vx /(x-3)
$() exsts : -4 20  and  w-F 4o S0 exsls: x =0 and  x-340
Xa=h X ¢ F x 20 and x£3
—__—\%——‘“,ﬁ‘ ———— ———
: R p:
fD- C‘*,?)u(m oo) L0, 3)U (3, oo)
%<WM Oy
2. f(x)=1/V(1-x?) 4. fx)=V(x+2)+1/x
$(x) ersis: |-x2 20 and AlI-x*40 Fx) exishs: x+2 26 and x#0
|>%x? 1-x* 0 X 2-2 gnd x#0D
12X and | Ax*

-le X X # ] ' T2 oo e
D (-1, 1) ] [D 1:2’5 b, )]

40 4 8 T 6 B8 4 3.2t 0V 2 3 4 5 0 7T 8 % W0

Homework:
Section 1.2 Quick Review, Page 101 - 5, 7, 9; Section 1.2 Exercises, Page 102 - 12



